WHEELCHAIR STABILITY MEASUREMENT SYSTEM

Considering the diagram below to find the total weight:

A B

Riear= MassS,ear x 9.81
Rfront = MaSSfront x 9.81

W= Rrear + Rfront



Considering the following diagram:
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Taking moments about A to find AB:

AB x W = AC X Ryont

Also,
sin @ = CR/AC

@ = arcsin (CR/AC)

The mass on one pair of wheels is measured to provide an angle of tip.

Tfront = Mfront x 9.81

To find AR:
cos @ = AR/AC

AR =AC xcos @

Taking moments about A to find AS:
AS X W = AR X Tfron[

AS = (AR X Trom) / W



To find AQ:

cos @ =AS/AQ

AQ=AS/cos @
To find BQ:

AB =AQ + BQ

BQ =AB - AQ
To find BD:

tan o = BQ/BD

BD =BQ/tan o



Consider the following diagram to find the tip and the maximum kerb height
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To find the angle of tip in a rearward direction:

tan 3 =AB/BD

B = arctan (AB /BD)

To find maximum height of kerb:
sinB=CR/AC

CR=ACsinf

To find the angle of tip in a forward direction:
tan 6 =BC/BD

0 = arctan (BC /BD)

To find the maximum height of kerb:
sind=AR/AC

AR =AC sin o



